SH6EE 7H

TETFER

B2

=
R

Tz

15 | 2 | 3% | 4 | 5F | o

PTALE

RARALTA2T/1-1/5 FTWERRERT/1-7/8

A |KiERER7/1-7/5

5 BAZE U (T 1% (64ESHH)

14:45| 15:35| 14:45 15:35

EILE R e 5
HNE DI N—" BEHIH B

15:10

AT—Iho 251858
HEVALAL A —T1/3-7/7
HNEDF v A—1 (6 14)

13:35 15:35

BNE DT A= (6E2HE)

13:35 14:20

BNEDF YA (6FEI)
T AMTFT/5-1/12
PTAS#H OEREER

14:45 15:35

HHhEES

NAN—QURIE~7/12 4BBBEBRAMESO=O)
HEFEHHEEMERE HLEDF P R— (5 140)
BELLYMBRT/8-1/19

13:35
HEE2H 1445k

BNEDEp A= (5E2H)

15:10

HNEDH v A—2 (5F3H)

13:35 ‘
|

15:35

FRIGERIEER

257@

13:35 J 14:55

AR (R E TED 6]
BWEDEE SR %

13:35

BOH

PTASEOEFRERH

15:10

A=A 25— B

13:35 15:35

ABMER RLEEY
BRES

13:35

WBERT
AR R HEETHR

13:35

HERERK

23

24

K ik G0 B 18 (D9:00-10:30

25

Kk SR (@)9:00-10:30

26

KRR 39:00-10:30

27

28

29

30

31




THM6HFEE 8H

TEFER

I

oI
bt

THREFZ]

1 | 2oF [ 35 | 4% | 5% | oFF

PTAMLE

FH B (FfFE) 145~ 8:008 4

10:00

wog

REHAE

=

HrR

14

7k

Eilpd=!

15

3l =]

16

20

21

22

23

24

25

HERERT

26

Z R4 R RER
WELL BHEER

12:25

217

x

YRERARS/27-12/23
ARRIEE Z4HRET.50-8:10

13:35

28

7K

ARFRERE

13:35

29

VN

ARFFEHEEE

13:35

30

id

AR (BEATHED=O)

13:35

31

L




